Math Algebra 8_3
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Person A and Person B walk 6 miles.

Person Awalks ___ longer
than Person B.
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Which line has a positive slope?
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Which line has a y—intercept of 3?
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Which line has an x—intercept of 1?
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Which line has a negative slope?
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y=3x-9
y=x-1

These lines are:
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Which is paralleltoy = 7x + 3?
A y=-3x+7
B.y=7x-3

C.y=3x-7

A. parallel
B. intersecting

C. same line
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Correct Answers
Game B has more points
until answers.
A. 14
B. 12
C. 10
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Which shows y = 4x — 2?
B.
15.
o}
s T
10}
slope =
A 2
B. 1
C.5

14.

3x+4y =20
7x + 8y =48

Solve for x and y.

A. (0, 6)
B. (8, -1)
C. (3,2)

16.

y=4x-7
y=9x-1

These lines are:

A. intersecting
B. parallel

C. same line
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